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Chinese Taipei Masters Athletics International Championships 2022 Autumn Taipei
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7+ 160 fhle Bk i 2T A, BT A

~ 30 ke R (600G) R F 8 4,B8 4

-+ 35 ke IR (600G)  |A-F L2 A, B2 A

H A0 e [ HRE(6006)  EE A

~ 345 fe (R (600G) A A I

7 5160 = |44 (1KG) - 54,554

7 5160 e 44 (1KG) -7 L 84,584

+ 3+ 50 g2 |47k (3KG) A A I

+ 3 55 g |4:7R (3KG) -7 34,34

+ 3160 g |47k (3KG) A 24,24

+ 3165 g2 |47k (3KG) - 4 A, B4

43+ 75 e |4:78 (3KG) -7 24,24

g+ M24 & = [100M B FTAERTA

§ 25 gk |100M PREAEE 234,438, BEE
g 30 gkl |100M PEAEE 194, 238, BEE
73050 g R (1006) |- £ 94, B84

7+ 5 e |HR(7006) A 94,84

g+ 35 gk |100M AR LA, A28, BREE
g 40 g [100M AR LA, A28, BRE A
g+ |45 gk e [100M AR 184,438, BE8
g3 M24 Rl B i L2 AP0 4
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71 [10:00]% 5 [25 e w  [peiz £ 34,34

72 110:00]3 5 [30 & = [priz E 2T, BT

73 110:02]3 5[50 & = [100M SRR R 15 4, A28 B8 A
74 [10:06]7 = |55 g = |[10OM PR E 10 4, A 28, EES X
75 [10:12]% 5 [60 & = [100M SRR E 124,228 B8 A
76 [10:18]7 = |65 g = |L0OM BN Wi

77 110:20% 5 [30 & = |#03% (4KG) £ QA B A

78 [10:20(%~ = |35 = |403% (4KG) £ QA B A

79 110:20%~ = |40 & = |58 (4KG) 4B

80 [10:20% = |45 g = |403% (4KG) £ 34,34

81 [10:20(7 = M24 f& = 114 (800G) £ 6 A, B 6 A

82 [10:20(7 = |25 g2 5146 (800G) £ 84 B8 A

83 [10:20(7 = [30 = |14 (800G) 4 A B4 A

84 [10:21]9 = |70 = [100M £ A, BB A

85 [10:24]9 = |75 g e |10OOM 284 B8 A

86 [10:27]9 = [80 g = |100M 204 B2 A

87 [10:27/9 = |85 g = |10OM 2] AR A

88 [10:30~ = |25 g = [10OM NIy W

89 [10:30(~ = |30 g = [100M 234 RS A

90 [10:30(%7 = |50 fe e |t £ g4 B g4

91 [10:30(9 = |55 g e |t £ 34, P34

92 [10:30(7 = |60 fe e |t 4 A B A

93 [10:30(9 = |65 f e |t £ 6 A, P A

94 [10:33~ = |35 g [10OM 2T BT A

95 [10:36]~ = |40 g = [100M £ 54 B A

96 [10:36]%~ = |45 g = [10OM - |22 4, R A

97 [10:39%~ = |50 g = [100M PREAR[E I A, A 28 EES X
98 [10:45/~ = |55 i [10OM NI

99 [10:48]~ = |60 g = [100M 294 EIED A
100(10:48|~ 5 [65 & = [100M 234 BESA
101]10:50/9 = [35 A = |prid £ 54, P54
10210:50/9 = [40 A = |preid £G4, P b A
103/10:51|% 5 [80 & = [100M B T
104]10:51|% 5 [85 & = [100M BT
105]10:55/% & [40 & = |SOMH(0. 762M) 214 BB
106]10:55/% =[50 & = |SOMH(0. 762M) IR Y S
10711:00/% = |70 & 2= |SOMH(0. 762M) £ 54, B A




108[11:00]9 5 [75 & 2= [8OMH(0.762m) |-  |# 1 4, g1
10911:05% 3 [25 & 2= [100MH(O. 840M) [&-%  |% 2 4, E 2
110/11:05/% 3 [30 g 2= [100MH(0. 840M) [&-% | 4 4, E 4
111/11:10[% 5 |65 & 2 [100MH(0. 840M) [ % | 4 4, E 4 =
112/11:15/7 3 [50 g 2= [100MH(0. 914) [&-%  [£ 4 4, @ 4
113/11:15/7 5 [55 & = [100MH(0. 914D [ %  |£ 3 4, E 3
114]11:20[7 & M24 & 2= [11OMH(C0. 991M) [&-% [ 1 4, @ 1
115/11:20[% & [30 g e [110MH(0.991M) [A%  [£ 1 4, @1
116/11:20[7 & |40 e [11OMH(C0. 991M) [&-% [ 2 4, E 2 4
117]11:20[9 5 [35 & e [#46(800G)  |[i-F  |# 4 4,54«

118[11:20]% + 40 A e [484£(800G)  |A-F  |# 6 4,56 4

119]11:20(% & 45 &= &4 (8006) |+%  |£ 9%, B84

120/11:257 & |45 e [11OMH(0. 991M) [&-% |25 4, B 5

11:30 P % & A iksY
Ok 11020 % 0GR CES 0 E AR E P4 LS IR o
£EAR 85}%!“#3'"’—“ MRS Sk
ARPEH s pERPEE s B H o

107 08 p 12:00 & * BpFrR 12130 ;ﬁ‘s%”i’“%ﬁfrr/f@

121(13:00|5 + M24 & = 4844 (2KG) g L4444
122]13:00( % + (25 & = 4544 (2KG) - £l 4,14
123(13:00|9 + (30 & = 4844 (2KG) i £ 24,24
124(13:00|% + (35 sk = 4844 (2KG) i £ 04,504
125(13:20|9 + 80 s = |43k (3KG) i £ 24,24
126(13:20|% + (90 & = |4-3% (3KG) i £1 4,514
127(13:30|9 + |25 e = |400M A I X
128(13:30|% + |30 g = |400M i L34, BHRIA
129(13:30|*% &+ M24 pk = |Big i £l 4,14
130(13:30|% + |25 f = |BfiR i £ 04,504
131(13:30|% + |30 gk = |Bf32 i L4 4,44
132]13:30|* + 35 gk & |Bhig - £ 34,34
133(13:30|% + |40 g = B33 - L4 4,44
134113:33|% + 35 gk = |400M - ETAERTA
135]13:36|% + |40 g = |400M REAER A, 2w FREA
136(13:40|5 + M24 & = B+ 3 i £l 4,14
137|13:40(5 + 25 fk e |B* 3 - £ 44,44
138113:40|% + 30 gk 2. |B*3 i £l 4,14
139]13:40|% + 35 k2. |B*% - £ 34,34
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140(13:40(5 = 40 k= |p* % 4 A B4 A
141(13:40|% &+ 45 ke B+ 3 L6 4,264
14213:40|% + (40 gk 2 |44 (2KG) L8 4,284
143]13:40/9 =+ 45 fk = |44 (2KG) £ 64,504
144|13:42|5 5 |45 & = |400M PEAEIE A, 2 2 HiES
145(13:48|% 5 |50 & = |400M PEEAE|E 134, 0 2, RS X
146(13:50(5 + M24 & = |4-3% (7. 26KG) L4 A, B4
147(13:50|% & 25 e 22 |4-2R (7. 26KG) £ 3A, B34
148 (13:50|% + (30 gk 2= |4-2k (7. 26KG) 24,224
149(13:54|9 =+ 55 k= |400M ‘ £0A, FELH A
150(13:57|% + |60 f = |400M PREAER 104, 4 28 HES A
151(14:03|% = |65 gk 2= |400M L6064, #FHBEO6 A
152(14:06|% =+ |70 & = |400M L4 ER4LA
153(14:09|% = |75 gk 2= |400M E4 A HRLA
154|14:09|% =+ |80 gk 2= |400M 1A HBLA
155|14:12|-% % 25 e 2= |400M L3 A, ERIA
156(14:12|* =+ (30 #& = |400M 1A HBELA
157|14:12|% =+ 35 e 2= |400M 24, FB2A
158|14:15* =+ |40 #& = |400M L3A,HREIA
159 |14:15|*% + |45 #& = |400M 24 BB A
160(14:18* =+ 50 & = |400M 4L ERLA
161|14:18|* =+ 55 & = |400M 1A HBLA
162(14:18|* =+ |65 & = |400M 1A E&RE]A
163|14:18|+ + |80 & = |400M E U 3%
164|14:20* =+ 45 e B iR £ 3 A, B34
165(14:20* &+ 50 f fe Btk £ 54 BH R
166(14:20|% =+ 55 k= |ptik 4 A B4 A
167(14:20(* =+ (60 & = |B* iR E 1A, BT 4
168|14:20|+ + |85 k2 |t B QA BD A
169 (14:25|* + (25 g 2= |1500M 1A E&BE]A
170(14:25|*~ =+ (30 g 2= [1500M H2AEIB2 A
171|14:25|* =+ (35 gk 2= |1500M L4 FR4LA
17214:25|% & |40 & = |1500M 24 BB A
173 |14:25|* =+ |45 g & |1500M EH A, EFIREDHA
174|14:25|* =+ 50 g 2= |[1500M L34, HBRIA
175(14:25* 3 55 = |1500M L2A,FBE2A
176 |14:25|* =+ [75 g 2= |1500M ETAHBRLA




177(14:35|9 + |25 g = |1500M 4L EIR4A
178(14:35|9 + |30 #& % [1500M EH A, HIREDHA
179(14:35|9 =+ |35 & % [1500M L4 ER4LA
180(14:35/9 + |40 g = |1500M EH A HIREH A
181(14:40(% =+ |35 & % |4-3% (7. 26KG) £ H A BH A
182(14:40|% + |40 f = |47 (7. 26KG) L HA,BH A
183(14:40|% =+ |50 & % |[454# (1. bKG) ETABTA
184(14:40|% + 55 gk e 444 (1. DKG) L HA,BH A
185(14:45|9 =+ |45 & %= [1500M L 10+, FREE A
186(14:45|9 + |50 # = |1500M QA HIRGA
187|14:55|9 + |5 & % [1500M ETAHERTA
188(14:55|% + |60 f& = |1500M L3A,HRIA
189|14:55|9 + |65 & % [1500M L6 A, FBEO6A
190(14:55|% % |70 & %= |1500M LEHA,HIEDHA
191(14:55|% % |75 k%= |1500M L2AHFBE2A
192(15:10(9 & 50 gk 22 |pei £10 4,58 «
15:101*% + |2 # &2 |400 = = £ 4 13:10 = =3F &
15:3019 + |2 # &% 400 = = 34 13:30 ==3F &
193(15:30|% & |45 gk = |47k (7. 26KG) ETABTA
194(15:40|% = |80 # % |4%4# (0. 7T5KG) E 1A, B~1 4
195(15:40|% =+ |85 gk = 444 (0. T5KG) E 1A B~1 4
196(15:50|9 + |45 f ko |Beid £ 13 4,B~8 4
197(16:00|* 3 |30 & 2= |5000M #&4_ 1A E&RE]A
198116:00|% =+ |35 f 2= |5000M #4_ ELA BRI A
199(16:00|* = |50 & %= |5000M #&4_ EH A, EHIBEDHA
200(16:00|~ =+ |60 # %= |[5000M s4_ ELA BRI A
201/16:00|% & M24 #& = |5000M #=4_ E24A,FB2A
202116:00(% &+ |30 #& 2= |5000M s 4_ 1A #&RE]A
203/16:00(% =+ |40 g 2= |5000M 4 E2A,HFB2A
204116:00/5 =+ 50 f = |5000M #E4_ L3 A, HRIA
205/16:00(% =+ |55 g2 |5000M 4 E4 A HFRLA
206(16:00/5 =+ |65 k= |5000M #E4_ E2A,BBE2A
207116:00(% =+ |70 g 2= |5000M 4 L34, HBRIA
208116:00/5 =+ |75 k= |5000M #E4_ E2A,BBE2A
209/16:00(% =+ |80 g 2= |5000M 4 ETAHBR]LA
210(16:00(9 =+ |80 & & |14 (400G) ¥ 34 B3
211116:00(5 &+ |90 & = |44 (400G) E 1A, B~1 4
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10°9p (E#p) 06:30 Miest
212[07:00[%~ = [25 g = [10000M AF [E2 A mR2
213]07:00/% = [35 & = [10000M AR (£ 24, BE2
214[07:00%~ = |40 g = [10000M AF R 2 A BRE2
215(07:00|% = [45 & = [10000M A (1A, ER]
216(07:00(%~ = |50 A& = |10000M AF |E3 A, EE3
217]07:00/% = [55 & = [10000M AR (£ 24, BE2
218(07:00%~ = |60 A& = [10000M AF B A BRI
219[07:00(9 = |65 g = |10000M AF |23, BB
920(07:00(7 = |70 g = [10000M A 264, EE6
221107:00]% = [75 & = [10000M YRR T YR
922(07:00(7 = |80 f = |10000M A [T A, EE]
223[08:00/% 5 [70 & & |[#4#(5006) |+<F |£5 4,354
224[08:00(7 5 |75 &A= {4 (5006) |+ F  [£ 3 %,B 34
225(08:00/% 3 25 & & & (1KG ) |F  |£1 4,314
296(08:00[+ + [30 & = |44 (1KG) AF |2 34,m31¢
227(08:00/% 5 [55 & = [4B& (1KG) AF |4 x B4
298(08:00(+ + |60 & = |44 (1KG) AE 224,30
929(08:00|% = [65 & = |48& (1KG) AF £ 34,314
230(08:00[+ + [75 & = |44 (1KG) AE 224, m
931[08:10(9 = |45 g = |10000M AF 294, EES
232108:10]% = [50 & = [10000M RN TY
933(08:10(9 = |55 g = |[10000M AF [£5 4, EED
234108:10]% = [60 & = [10000M AF |25, BED
235(08:20(9 + [25 & . | = mprid A% [£34,3314
936(08:20(7 = |35 fm | = mprid AF B 24,214
237(08:20(9 & [40 & = |= mprid A% [£34,3314
938(08:20(7 = |50 g = |403% (6KG) AE T4, BT
239(08:20(7 = |55 g = |403% (BKG) AF 210 4,58«
240(08:40|% 5 [35 & = |48 (1KG) AF 234,314
241(08:40|%~ = |40 g = |44 (1KG) AE |24,
242108:40|% 5 [45 & = [4B& (1KG) AF AL 4
243108:40|% 5 [50 A& = [45& (1KG) AE |24,
244108:40]3 = 60}% ©  [B#6006) |EF £ 84,384
245(08:40(% = |65 f &2 |4 (6006)  |F |25 %, 354
946(09:00(9 = |25 f = |10000M AF |E2 A BE2
947(09:00(9 = |30 g = |10000M AF |E3 A, EE3 A




948(09:00[7 = [35 f = [10000M AF [£5 4, EED A
949(09:00(7 = |40 f& = |10000M AF [£5 A, EED A
950[09:10|% + [45 & = |= sprif AFE |2 T4 BT
951[09:10/9 + 50 & = |= mprit AE £ T4, BT
952[09:10|% + 55 & o |= sprif AF |34, B34
253(09:30(7 3 70 fe e |sask (4KG)  |-F | 3 4,33«
254[09:30[7 = [15 A e [ssp (4KG)  [ikp |2 24,521
255(09:50|% 3 25 A& == |A00MH(0. 762M) |- | 1 4, & E 1 <
256 (09:50|% 3 30 A 2= |400MH(D. 7620) |- | 1 4, #E 1 <
257(09:50(7 3 [50 A& 2= |400MH(0. 840M) |-  |% 4 4, & E 4 <
258|09:50(% + 55 & = |400MH(O. 840M) |- |2 4 4, #E 4 <
259(09:55/7 = M24 & = [A00MHC0. 914M) [  |= 1 4, & E 1
26009:55|9 5 [25 & = |400MH(O0. 914M) |7  |= 2 4, B2
261[09:55/7 = [30 A& = [A00MHC0. 914M) [ |2 2 4, 2
262[09:55/7 = [80 A e [sasf (3KG)  |F |23 %, B3«
263(09:55% + |90 & e |4k (3KG)  |kpF £ 1 4,514
264(10:00(7 3 (35 & 2= |400MH(0. 914M) [i-% |2 4 4, B4 <
265/10:00(9 5 10 & = |[400MH(0. 914M) &%  |% 2 %, B2
266(10:00(7 3 45 & 2= |400MH(0. 914M) |- |2 1 4, B 1 <
267(10:00% F 60 & e |40k (BKG)  |kF |24 4, B4
268[10:00(7 = [65 A e [ssf(BKG)  |ikp £ T 4, BT X
269/10:00[% + [30 e |= mprid AE 214 B
970[10:00|% + 35 & = |= mprit AE (214,54
OT1/10:00|% = 45 e |= mprid AE |E 14, B4
972110:00|% + 55 & . |= sprit AE (214,54
273/10:00[% = [60 fe 2 |= mprid AE |E 14, B4
274110:00[% + [65 fe e |= mprid AE (214,54
975(10:00|% + 85 & . |= mprit AE (224,521
976|10:00/9 + 80 & = |= mprit AE (224,20
977110:00]% + |90 & = |= mprit AE |E 14, B4
27810:00|% & N24 &k ‘o |4 % p+ AE 214, B
979110:00/% + 25 & = |45 p+ B AE |2 1A, L
980(10:00%~ = |30 fe e |#F 5 pr 3 AE (224, B2
981[10:00/3 + N24 & = [# % b+ 3 AE |2 1A, L
982(10:00/9 + 30 &= |[#% b3 AE (224, B2
983(10:00/9 + 45 &k = |45 o+ B AE 234,331
984110:00/9 + 50 &= |[#% BB AE 224,01

22




285(10:00(9 + 55 ke X o3 i E QA PO A
286(10:00(5% =+ |60 k22 |FEp+3 i L1 A1 4
287110:00(5% =+ |60 ke | Ep+3 - L1 A1 4
288(10:00(9 =+ |70 fhle. | E B3 i £ 3A, B34
289[10:05|~ =+ |50 & = |300MHC0. 762M) |+ % ERRE T S
290110:05/% & |60 f 2= |300MH(O. 762M) |4 % 1A HBRLA
291(10:05(% =+ |65 & = |300MHC0. 762M) |+ H LA HERA A
292110:05/% & |75 pe 22 |300MH(0. 762m) |4 % 1A HBRLA
293[10:15]% =+ |25 gk '= |200M i 7 24, BBE24A
29410:15|% 3 |30 & = [200M e ERSE Y R
295(10:15|% =+ |35 g = |200M A H QA HED A

296 (10:18|% = |40 & = |200M g L3A,HRIA
297(10:18]% = |45 g = [200M o H LA HER4 A
298(10:20|% =+ |50 sk = |4&3k (6KG) g L HA,BH 4
299(10:20|% =+ |55 k= |4&3k (6KG) i 64,5064
300(10:21|% + |50 & 2= [200M A HTACHERT A
301(10:24|% =+ |55 g = |1200M i L2AHFBE2A
302[10:24|* =+ |60 & = |200M -7 1A H&RE] A
303|10:24|* =+ |65 g = |200M i L2AHFB2A
304/10:24|~ 5 |80 & = [200M g ERERWE T I
305|10:24|% + |85 g = |1200M i 1A #&RE]A
306(10:30| 9 =+ [M24 & = [200M 5 E LA HB]L A
307(10:30% & |25 k2= |200M i EH A, EHIBEDHA
308(10:33|9 + |30 g = |200M -7 E3A BRI A
309(10:36|% &+ |35 k= |200M PEAFE A, A2 BIRESL
310(10:39|9 =+ |40 f& 2= |200M - £ 8 A, HIESA
311(10:42|9 = |45 & = [200M PREAEE 1A, A 2, ARS8
312110:48]% &+ |50 gk = |1200M PEAREE 124,82 FE8 A
313[10:56|9 &+ |55 k= |200M A7 L84, HBEEA
314(11:00/% + |60 & = |200M PEAREELLA, A2, HREE A
315[11:00{% + |60 fk bz |= Bprig A F 4 A, B4 A
316(11:00]5 + |65 ke |= & pkig -7 £ 34 B3 A
31T|11:00(% =+ |70 fe 2 | = Bprik A F £ 5 A Bh A
318(11:00/9 & |75 k& |= mprid o 294 B9 A
319(11:00|% =+ |70 & = |4-3% (4KG) i £ DA, BH 4
320(11:00{9 &+ |75 = |453% (4KG) - L4 A, B4
321(11:05|% =+ |60 fk = |4&3k (5KG) i £ 34,34
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322|11:05|5 =+ |65 gk = |4&a3k (5KG) 44,244
323(11:06|% &+ |65 & = |200M I X
324(11:09|9 + |70 g = |200M IR I
325(11:12|% =+ |75 fe = |200M ETAEBRT A
326(11:15|9 + |80 & = |200M I X
327|11:15|% =+ |85 g = |200M F1 A #ERI A
328 |11:20|* =+ |25 gk = |800M £ 24,3214
329|11:20|* =+ |35 = |800M £ 34,234
330 |11:20|* =+ |40 g = [800M £ 34,34
331|11:25|* =+ |M24 # = |800M H1 A1 A
332 |11:25|* =+ |45 gk = |800M 44,44
333|11:25|* + 50 & = |800M L4444
334 |11:25|* =+ |55 gk = |800M £1 4,114
335|11:30|% + |25 = |800M £ 24,2214
336|11:30/% &+ |30 &= |800M £ 24,2214
337(11:30{% =+ |35 gk = |800M 64,5614
338|11:35|9 + |40 & = |800M £ 10 4,28 <4
339(11:40{% =+ |45 g = |800M £ 10 4,28 4
340(11:45|5 =+ |M24 & = |4azk (7. 26KG) £ 14,214
341(11:45|5 + |30 gk e |4azk (7. 26KG) £l 4,14
342|11:45|% + |35 g 2 |4&3% (7. 26KG) £ 34,534
343|11:45|5 + |40 g e |gazk (7. 26KG) £l 4,14
344|11:45|% + |45 k2 |4&3% (7. 26K6) £ 34,534
345|11:45|% + |50 g = [800M £ 94,2814
346|11:50|9 &+ |55 e |800M £64,56¢4
347|11:50(% =+ |60 gk = [800M LT A BT A
348 |11:55|% =+ |65 gk = |[800M 4 A B4R
349|11:55|9 &+ |70 & = |800M £ 34,534
350 |11:55(% =+ |75 f = |800M £ 34,2314




107 9p 12:00 R4 * BpER 1230 53 + et ¢

351 [13:00|% + |30 #& = |4&3k (4KG) - QA B2 A
352(13:00|% + |35 & = |4&azk (4KG) - £ 34, B34
353(13:00|% + |40 #& = |4&a3k (4KG) s £ 1A, B] R
354113:00|% + |45 & = |4ank (4KG) - £ 34, B34
13:00% 5 | & &40 1600 2 2 &4 L Fk 11:30 =4 2
13:15|% + |& #4p e 1600 2 ¢ &4 L% 11:30 %4 2
355(13:30(9 + |M24 # = |3000M Mz -7 1A ERE]A
356(13:30| 5 + |30 f = |3000M Hrsz - E3AHBEIA
357113:30|% + (35 gk = |3000M Fisz - E 4 A HREA4A
358(13:30|5 + |40 & = |3000M FHrsx -7 E 44 ER4A
359(13:30|5 + |45 & = |3000M Fisz - ELAHB]L A
360(13:30|5 + |50 & = |3000M sz -7 E 44 ER4A
361(13:30|% + |55 k2= |3000M Fisz - E2A HIE2A
362(13:40|% + |50 & = |43k (3KG) 5 QA B2 A
363(13:40|% + |55 & = |4&3k (3KG) R £ 54 B5H A
364 (13:40|%~ + |60 #& = |43 (3KG) 5 QA B2 A
365(13:40|% + |65 & = |4&3k (3KG) R E QA B2 A
366 |13:40|* &+ |75 &k = |4&zk (3KG) T H 1A, B] 4
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